
prim thschool                              Mathematics                                            5 Salam language 

Name : ……………………..                                                       class :…………………….. 

 

Complete : 

…………………… to the nearest hundredth   ~ 0.7391   1) 

      1   …………………. To the nearest       ~2)  19.9727    

                       10         

        3   2………….            3     3)  1 

          10                                 10   

  7   ……………….                3   4)       

   6 5 

5)   34.253  ×  1000  = ……………….. 

 

Choose the correct answer : 

1) 3.2 × 0.005 = ………………..         (  0.16  ,  1.6  ,  0.016  ,  0.0016 ) 

2) ( 3.74  +  6.26 )  × 10 = ………………                 ( 10  ,  100  ,  1  ) 

…………….                          (  6  ,  8  ,  7  ,  9  )  ~3) 57 days    

247.6  to the nearest ………………       ( ten , tenth , unit , hundredth )  ~4) 247.5995    

,  then    X = ………………         6  =         3  5) If      

  X             5 

 

Arrange the following numbers ascendingly : 

 13  ,            13  ,          13 ,           13 ,         13      

 15 13 17 7       5    

…………. , …………….., ………………, ……………., …………. 

 

Find the result : 

1)  1.156  ×  5  = ……………….. 

2)  8.114  ×  100  = …………………. 

    8  <          x  <          6  )  If  3 

 11 11 11  

Then x = …………. 

 

 

 

 



 

 

Salam language school                              Mathematics                                            5th prim 

Name : ……………………..                                                       class :…………………….. 

 

Complete : 

1)  2.5781   ~ ………………..              (Approximate to the nearest tenth) 

2)  (  471.72  +  8.82 )   ÷  15  = ……………………………. 

3)  4 
1

5
      ×   2 

2

3
        =   ………………… 

                              

5.99     (  to the nearest ………………………)    ~4)   The number 5.994   

5)   ………………..   ×  100  =  42.5  

 

 

Choose the correct answer : 

1)  135.42  ÷  100  =  ………………     (   13542  ,  13.542  ,  1.3542  ,  1354.2  ) 

2)  1.25   ×  3.2  ………..   32   ×  12.5                      (   <   ,   >   ,   =   ) 

3)  The smallest fraction in the following is ……………..          ( 
1

3
        , 

5

8
       ,    

2

9
   ,  

2

5
   ) 

4)     
2

7
      ×     …………..       =     

10

49
                 (    

10

7
   ,  

5

49
      , 

5

7
      ,   

7

5
     ) 

                                                             

5)   1 
1

2
       ÷     

1

4
          =    …………….   (    2   ,  6   ,   3    ,   12    ) 

                                                                          

 

Put the suitable symbol   (   <   ,   >   ,    =    ) 

1)   4.79   ×   1000      ………………..       47.9   ×  100 

2)  140.44    ……………….   34.044 

3)  845   ÷   4.9   …………………..  (  84.5  ÷  49  )  ×  0.1 

 

 

* If the price of one meter of cloth is   7.35  pounds  ,  what is the price of 3.5 meters ? 

 



 

 

 

 


